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QUESTION NO: 1

Which is the governing body of WWW?

A. World Wide Web Console

B. World Wide Web Consortium

C. World Wide Web Organization

D. World Wide Web Group

ANSWER: B 

QUESTION NO: 2

............ in the http response contains the contents of the document which is requested by the client.

A. Header

B. Message body

C. Initial line

D. Not included

ANSWER: B 

QUESTION NO: 3

Which is the intermediary between client and application server?

A. Browser

B. Web server

C. Database

D. Firewall

ANSWER: B 

QUESTION NO: 4

........... accepts the requests from the user.
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A. Application server

B. Web server

C. Database server

D. Browser

ANSWER: B 

QUESTION NO: 5

........ is used to display the web pages.

A. Browser

B. Server

C. Home Page

D. Website

ANSWER: A 

QUESTION NO: 6

Which component helps in concurrent database access?

A. Web server

B. Browser

C. Application server

D. Database server

ANSWER: D 

QUESTION NO: 7

......... topology is also known as hierarchical topology.

A. Mesh

B. Tree

C. Star

D. Bus
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ANSWER: B 

QUESTION NO: 8

Arpanet is created based on which model?

A. TCP/IP Model

B. ARP Model

C. ARPA Model

D. DARPA Model

ANSWER: A 

QUESTION NO: 9

Which portion of a packet contains the source IP address and the destination IP address?

A. Body

B. Footer

C. Title

D. Header

ANSWER: D 

QUESTION NO: 10

......... topology is the name given to the mapping of network based on the path taken by the signals.

A. Physical

B. Logical

C. Signal

D. Hybrid

ANSWER: C 
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